Recap algebra...

Fractions and Algebraic Fractions

2
3xxXx = f;‘x = 2x°(x + 3) = x+2)(x+3)=(2x+ 3)x - 2)=
Cancelling down fractions...
10 _ 27 _ 21 _ S 2 24 _ 7
40 63 7 8 ~ 24 40 100
Cancelling down algebraic fractions...
1060 272y’ 3x°—9x X 5x+6 =9
35x° 18xy4 2x—6 x4+7x+12 X —x—6
Multiplying fractions...
1 3 2 2 2 5 3 4 12 5
TXT TXT= TXE = R FR T
Multiplying algebraic fractions...
Xy 3% _ 2 2 2X x+1 x-1 4 _ X2 o x43
T XS T 7 X% = T X T = 5 X1 x=2 7 xtd T
Dividing fractions...
1.3 _ 2 .2 _ 2 . 5 _ 3.9 _ 12, 12 _
4 75 7 79 7 21 8 16 25 35 T
Dividing algebraic fractions...
x .3 _ 2x . 2 _ x+3 . 5 x—1 . x+1 12 . x=1 _
4 7 5x 7 T x 7 7 xt4 8 1 x+2 x-1 = x+2 T
Adding and subtracting fractions...
7 8 2 1 7 1 3 8 5 2
R Tt = T T = 79
Adding and subtracting algebraic fractions...
3 2 2 1 x_ 2 _ 2 1 2x+1 3x_ _
x—1 x+3 x+4 x=3 x—3 x+2 x+2 x=2 x—2 x+4




Recap algebra...

Fractions and Algebraic Fractions - Answers

2 8x 2 2 3
3xxXx = 3x o = e 2x (x + 3)=2x +|(x + 2)(x + 3)=x|2x + 3)(x — 2) =
Cancelling down fractions...
10 _ 1 27 _ 3 2L _ 3 5 _ 15 24 60
0~ 4 377 7 8 ~ 24 40 100
Cancelling down algebraic fractions...
106" 2x 275y’ 3x 3x’—9x _ 3—x 45046 x+2 K-9  _ x43
3 7 18xy* 2 2x—6 2 Carxr1z | o4 Kox—6 X2
Multiplying fractions...
1 3 3 2 2 4 2 5 10 5 |3 4 12 1 12 5 1
TXT 0 TX9T®m |7 T e T |s v T T X T
Multiplying algebraic fractions...
EINY 3x 3x° 2x X 2 _ Ax 4 |ox % x+1 22424 TS X T = s = e e Z‘_ZL'(
4 5 20 7 x 7x 717 6 42
Dividing fractions...
1.3 _ 5 2.2 _ 2 _qZ|2. s 6 _ 1) 2.2 _2 1z .12 _ 7 _ 12
5 7 12 7 9 — 7 ~ 7|7 21~ 5 8 16 ~ 3 25 35 7 5~ 5
Dividing algebraic fractions...
2 -1, x P 12, a1 12x424
X .3 5 2 20 x)ad 5 xa7ef Shem=tel 1w T e
4 5x 12 7 X 14 71 7 x+4 35
Adding and subtracting fractions...
7 8 15 2 1 7 7 1 17 3 8 91 19 5 2 31
st = =Tt 21 8 6 24 s o =7 =17 7 9~ 63
Adding and subtracting algebraic fractions...
—Sxt7 —3x=2 x+6 2x°—5x—2 5x°+3x+4
(x—1)(x+3) (x—=3)(x+4) (x—3)(x+2) JE (x—2)(x+4)




Exam type questions
(These ones taken from Justmaths)
Express as a single fraction.

m+1 m
n+1 n

2x+1  5x-2 . 19x — 4
Show that 3 + > simplifies to ———

. . ax +b
simplifies to ~rd

1
Show that ———— +
6x2+7x—-=5 4x2-1

Show that e ¢ can be written as Y
b+1 (b +1)2 (b +1)2

2x% -3x -5 , . +b
Show that ——  — can be written in the form ax
x2+6x +5 cx +d

Show that
4 2 2(x+5)

x=3 x+1 (x—3)(x+1)

X+ 2 x—2
Solve -+ =3
3x 2x

Given that
2 —1:x — 4 =16x + 1: 2x — 1

find the possible values of x.


https://justmaths.co.uk/2015/12/21/9-1-exam-questions-by-topic-higher-tier/

